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309 E A z 511527%%#454%69]3 BB 2 1F T 83.43 PR
310 G ) 511529 *s% %5572 14 MR R AE T 83.40 HUARKS
311 Y & % ) 5204245 *%* k%% 1 [k K 83.40 BUAK
312 B oA E )2 5115025 #sk% k548453 iR R AE T 83.37 HUARKS
313 OB MK 3 513902% ¥k xk%%)333 BRI T 83.33 PUERAS
314 x| = 2 5202428 *k*Hkx4%2695 BB B AE T 83.30 AR
315 XN &K 2 511521 %*****%%0516 M %BHRET 87.12 HUARKS
316 5 A 2 511521 % kkkk%%]19]4 B B HET 83.36 B
317 % ;r# L 500230 ***kk4%3 55 L EBHRET 83.28 PR
318 N = 411325 K xk45%(04]2 Pl g BRET 83.20 PR
319 -4 i )2 510922%**#x%%5(73 Pl g BRET 83.16 Bl
320 = F 1% I 513823 *kkkxk%3D X Pl g BRET 83.00 Bl
321 - N L 510681%** k%4413 M EBHRET 80.92 O
322 w4 = ) 511521 %#%*xk%%280909 MEEGEET 80.60 B
323 % E E L 513023 %#kkk4%33]3 L EBHRET 80.20 PR
324 o = 2 510322% ¥ **%*859() Pl g BRET 79.24 PR
325 A L 511526 **kxkx%]11]3 L EBHRET 79.16 PR
326 ok ) 511521 4**xk%%4274 MEEGEET 77.88 B
327 IR 4 L 520203 *# Kk *4%(0814 M EBHRET 77.64 B
328 25 o I 513822k kskskkx()()]7 Pl BE T 77.32 Bl
329 F»Ow B 511526%****k%%]1312 Pl BT 77.20 AR
330 E S S L 511526%*kxk%%4()]8 M EBRET 76.84 B
331 woE A 3 51101 %% xkxkkx3558 Pl BE T 76.72 Bl
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